

BEIJING CROWN SPORTING GOODS CO.,LTD.

Add.:No.27 Bei Chi Zi Street, Beijing city of China Postcode:100006
Tel.:+86-010-65252280-turn-8030 +86-010-65253370-turn-8030 Fax:+86-010-65590600
Phone:+86-13811531500 Email: kevin@crownsports.com Web.: www.crownsports.com

То	:		
Telphone	:		
Mobile	:		
Address	:		
Fmail			

One or	rder Di	scount
>50000 USD	>100000 USD	>150000 USD
95%	92%	90%

Quotation No.	: 20180101
Date	: 01/01/2018
Validity	: one year
Price Term	: EXW (Agent price)
Destination	:
Shipping by	: by sea
Shipping port	· Tianiin seaport

>>>>>>>>>>>

Туре	Certify	Product name	Specification	Picture	M)Q	Unite price	Total price
F100-800-C1	IAAF	Competition 800g javelin			13	pcs	\$164.00	\$2,132.00
F100-700-C1	IAAF	Competition 700g javelin	Made of high aluminum		13	pcs	\$137.00	\$1,781.00
F100-600-C1	IAAF	Competition 600g javelin	alloy,painting for 4 colors,custom the grade		13	pcs	\$125.00	\$1,625.00
F100-500-C1		Competition 500g javelin	coloro, odotom the grade		13	pcs	\$120.00	\$1,560.00
F100-800-C4	IAAF	Competition 800g javelin			13	pcs	\$117.00	\$1,521.00
F100-700-C4	IAAF	Competition 700g javelin	Made of high aluminum		13	pcs	\$105.00	\$1,365.00
F100-600-C4	IAAF	Competition 600g javelin	alloy,painting for 3 colors		13	pcs	\$92.00	\$1,196.00
F100-500-C4		Competition 500g javelin			13	pcs	\$87.00	\$1,131.00
F100-800-1	IAAF	Competition 800g javelin		Anna Sol	13	pcs	\$94.00	\$1,222.00
F100-700-1	IAAF	Competition 700g javelin	Made of high aluminum		13	pcs	\$90.00	\$1,170.00
F100-600-1	IAAF	Competition 600g javelin	alloy,painting for 2 colors,custom the grade		13	pcs	\$87.00	\$1,131.00
F100-500-1		Competition 500g javelin	coloro, odotom the grade		13	pcs	\$84.00	\$1,092.00
F100-800-4	IAAF	Competition 800g javelin			13	pcs	\$69.00	\$897.00
F100-700-4	IAAF	Competition 700g javelin			13	pcs	\$67.00	\$871.00
F100-600-4	IAAF	Competition 600g javelin	Made of high aluminum	TOTAL	13	pcs	\$65.00	\$845.00
F100-500-4		Competition 500g javelin	alloy,painting for 1 colors	1984	13	pcs	\$64.00	\$832.00
F100-400-4		Competition 400g javelin			13	pcs	\$54.00	\$702.00
F100-300-4		Competition 300g javelin			13	pcs	\$50.00	\$650.00
F100-800-4w	IAAF	Competition 800g javelin			13	pcs	\$69.00	\$897.00
F100-700-4w	IAAF	Competition 700g javelin		70.0.	13	pcs	\$67.00	\$871.00
F100-600-4w	IAAF	Competition 600g javelin	Made of high aluminum		13	pcs	\$65.00	\$845.00
F100-500-4w		Competition 500g javelin	alloy,painting for 1 colors		13	pcs	\$64.00	\$832.00
F100-400-4w		Competition 400g javelin		·	13	pcs	\$54.00	\$702.00
F100-300-4w		Competition 300g javelin			13	pcs	\$50.00	\$650.00
F100-1000-8		Training 1000g javelin			13	pcs	\$65.00	\$845.00
F100-900-8		Training 900g javelin			13	pcs	\$62.00	\$806.00
F100-800-8		Training 800g javelin		500	13	pcs	\$49.00	\$637.00
F100-700-8		Training 700g javelin	Made of normal aluminum	1009	13	pcs	\$47.00	\$611.00
F100-600-8		Training 600g javelin	alloy,painting for 1 colors		13	pcs	\$45.00	\$585.00
F100-500-8		Training 500g javelin			13	pcs	\$43.00	\$559.00
F100-400-8		Training 400g javelin			13	pcs	\$42.00	\$546.00
F100-300-8		Training 300g javelin		·	13	pcs	\$40.00	\$520.00
F100-800-Y		Training 800g javelin			13	pcs	\$64.00	\$832.00
F100-700-Y		Training 700g javelin			13	pcs	\$62.00	\$806.00
F100-600-Y		Training 600g javelin	Made of normal aluminum	Con Control Control	13	pcs	\$60.00	\$780.00
F100-500-Y		Training 500g javelin	alloy,the tip is rubber, painting for 1 colors		13	pcs	\$59.00	\$767.00
F100-400-Y		Training 400g javelin	F =		13	pcs	\$57.00	\$741.00
F100-300-Y		Training 300g javelin		,	13	pcs	\$55.00	\$715.00

Туре	Certify	Product name	Specification	Picture	М	QC	Unite price	Total price
F200-75-3		Competition 0.75kg discus	ор остояной		2	pcs	\$37.50	\$75.00
F200-1-3	IAAF	Competition 1kg discus		GROWN.	2	pcs	\$39.00	\$78.00
F200-15-3		Competition 1.5kg discus	Made of high steel & plastic		2	pcs	\$40.00	\$80.00
F200-175-3	IAAF	Competition 1.75kg discus			2	pcs	\$42.00	\$84.00
F200-2-3	IAAF	Competition 2kg discus			2	pcs	\$43.50	\$87.00
F200-1-Y		Training 1kg discus			2	pcs	\$15.00	\$30.00
F200-15-Y		Training 1.5kg discus			2	pcs	\$17.00	\$34.00
F200-175-Y		Training 1.75kg discus	Made of rubber and steel		2	pcs	\$18.50	\$37.00
F200-2-Y		Training 2kg discus		enceum	2	pcs	\$20.00	\$40.00
F200-75-9		Training 0.75kg discus			2	pcs	\$27.50	\$55.00
F200-1-9		Training 1kg discus			2	pcs	\$27.50	\$55.00
F200-125-9		Training 1.25kg discus		CROSSES. Selec	2	pcs	\$28.50	\$57.00
F200-15-9		Training 1.5kg discus			2	pcs	\$29.00	\$58.00
F200-175-9		Training 1.75kg discus	Made of normal	The state of the s	2	pcs	\$30.00	\$60.00
F200-2-9		Training 2kg discus	steel & plastic	1kg	2	pcs	\$30.00	\$60.00
F200-225-9		Training 2.25kg discus			2	pcs	\$31.00	\$62.00
F200-25-9		Training 2.5kg discus			2	pcs	\$32.00	\$64.00
F200-3-9		Training 3kg discus			2	pcs	\$33.50	\$67.00
F200-1-X		Discus bag		*	50	pcs	\$15.00	\$750.00
F200-15-X		Discus bag			50	pcs	\$15.00	\$750.00
F200-175-X		Discus bag	fabric	CROWN	50	pcs	\$15.00	\$750.00
F200-2-X		Discus bag			50	pcs	\$15.00	\$750.00
F300-726-31	IAAF	7.26kg iron shot put		The same of	4	pcs	\$60.00	\$240.00
F300-6-31	IAAF	6kg iron shot put			4	pcs	\$57.00	\$228.00
F300-5-31		5kg iron shot put	competition iron		4	pcs	\$55.00	\$220.00
F300-4-31	IAAF	4kg iron shot put	'		4	pcs	\$53.50	\$214.00
F300-3-31		3kg iron shot put			4	pcs	\$50.00	\$200.00
F300-726-21	IAAF	7.26kg cast steel shot put			4	pcs	\$107.00	\$428.00
F300-6-21	IAAF	6kg cast steel shot put			4	pcs	\$100.00	\$400.00
F300-5-21		5kg cast steel shot put	competition cast steel		4	pcs	\$90.00	\$360.00
F300-4-21	IAAF	4kg cast steel shot put	·		4	pcs	\$85.00	\$340.00
F300-3-21		3kg cast steel shot put			4	pcs	\$82.00	\$328.00
F300-726-10	IAAF	7.26kg shot put			4	pcs	\$257.00	\$1,028.00
F300-6-10	IAAF	6kg shot put		IAAF	4	pcs	\$244.00	\$976.00
F300-5-10		5kg shot put	Competition stainless steel		4	pcs	\$237.00	\$948.00
F300-4-10	IAAF	4kg shot put			4	pcs	\$229.00	\$916.00
F300-3-10		3kg shot put			4	pcs	\$210.00	\$840.00
F300-726-11	IAAF	7.26kg cast steel shot put	competition Φ110mm		2	pcs	\$279.00	\$558.00
F300-726-12	IAAF	7.26kg cast steel shot put	competition Φ113mm		2	pcs	\$207.00	\$414.00
F300-726-13	IAAF	7.26kg cast steel shot put	competition Φ116mm		2	pcs	\$180.00	\$360.00
F300-726-14	IAAF	7.26kg cast steel shot put	competition Φ120mm		2	pcs	\$170.00	\$340.00
F300-726-15	IAAF	7.26kg cast steel shot put	competition Φ125mm		2	pcs	\$155.00	\$310.00
F300-726-16	IAAF	7.26kg cast steel shot put	competition Φ129mm	7/3	2	pcs	\$127.00	\$254.00
F300-6-11	IAAF	6kg cast steel shot put	competition Φ105mm	6	2	pcs	\$177.00	\$354.00
F300-6-12	IAAF	6kg cast steel shot put	competition Φ110mm		2	pcs	\$165.00	\$330.00
F300-6-13	IAAF	6kg cast steel shot put	competition Φ116mm		2	pcs	\$159.00	\$318.00
F300-6-14	IAAF	6kg cast steel shot put	competition Φ120mm		2	pcs	\$154.00	\$308.00
F300-6-15	IAAF	6kg cast steel shot put	competition Φ125mm		2	pcs	\$137.00	\$274.00
F300-5-11		5kg cast steel shot put	competition Φ100mm		2	pcs	\$162.00	\$324.00
F300-5-12		5kg cast steel shot put	competition Φ106mm		2	pcs	\$152.00	\$304.00
F300-5-13		5kg cast steel shot put	competition Φ110mm		2	pcs	\$140.00	\$280.00
F300-5-14		5kg cast steel shot put	competition Φ116mm		2	pcs	\$130.00	\$260.00
F300-5-15		5kg cast steel shot put	competition Φ120mm		2	pcs	\$119.00	\$238.00
F300-4-11	IAAF	4kg cast steel shot put	competition Φ95mm		2	pcs	\$144.00	\$288.00
F300-4-12	IAAF	4kg cast steel shot put	competition Ф99mm		2	pcs	\$137.00	\$274.00
F300-4-13	IAAF	4kg cast steel shot put	competition Φ103mm		2	pcs	\$130.00	\$260.00
F300-4-14	IAAF	4kg cast steel shot put	competition Φ106mm		2	pcs	\$119.00	\$238.00
F300-4-15	IAAF	4kg cast steel shot put	competition Φ109mm		2	pcs	\$109.00	\$218.00
<u> </u>					·			

F300-726-11 IAAF Sathless seed 7 26sq strbt competition 9115mm properties of 915mm competition 9115mm	Туре	Certify	Product name	Specification	Picture	N/I	OQ	Unite price	Total price
F300-726-13 IAAF satisfies steef 7.28 g shot competition of 115mm F300-726-14 IAAF satisfies steef 7.28 g shot competition of 125mm F300-726-15 IAAF satisfies steef 7.28 g shot competition of 125mm F300-726-16 IAAF satisfies steef 7.28 g shot competition of 125mm F300-726-11 IAAF satisfies steef 9.28 g shot competition of 125mm F300-8-11 IAAF satisfies steef 9.28 g shot competition of 125mm F300-8-12 IAAF satisfies steef 9.28 g shot competition of 125mm F300-8-13 IAAF satisfies steef 9.28 g shot competition of 125mm F300-8-15 IAAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-16 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-10 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-10 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-10 IaAF satisfies steef 9.28 g shot competition of 125mm F300-8-10 IaAF cast steef 5.28 p shorter F300-8-10 IaAF cast steef 5.28 p shorte					1 loture				
F300-726-14 IAAF salinies seter 7.28 y and competition of 116mm									
1-300-726-14 MAF	-		_	·	,		•		
F300-728-16 IAAF			ŭ	•	,			,	
F3007-611 MAF statiliness saled 80g shot put Competition Ф105mm F300-6-12 MAF statiliness saled 80g shot put Competition Ф105mm F300-6-13 MAF statiliness saled 80g shot put Competition Ф105mm F300-6-14 MAF statiliness saled 80g shot put Competition Ф105mm F300-6-15 MAF statiliness saled 80g shot put Competition Ф105mm F300-6-15 MAF statiliness saled 80g shot put Competition Ф105mm F300-6-13 statiliness saled 80g shot put Competition Ф105mm F300-6-13 statiliness saled 80g shot put Competition Ф105mm F300-6-13 statiliness saled 80g shot put Competition Ф105mm F300-6-14 MAF statiliness saled 80g shot put Competition Ф105mm F300-6-15 Statiliness saled 80g shot put Competition Ф105mm F300-6-16 Statiliness saled 80g shot put Competition Ф105mm Competition Ф105mm F300-4-14 MAF statiliness saled 80g shot put Competition Ф105mm Competition Ф105mm F300-4-14 MAF statiliness saled 80g shot put Competition Ф105mm Competition Ф105				•	•				
F300-61-12 IAAF stairless state (8 g at pt put Competition + 10 filmm Competition + 10			<u> </u>		•				
F300-6-13			_	·	•				
F300-61-13 IAAF stanises steel 60g shot put competition 0+15mm				'	Const				
F300-6-15 IAAF stainless steel (lig shot put competition 0+125mm	-			·	IAAF				
F300-5-11 IAAF statifices set field flight plut competition #125mm 2 pcs \$229.00 \$458.00 F300-5-12 statifices set flight plut competition #106mm 2 pcs \$220.00 \$458.00 F300-5-13 statifices set flight plut competition #106mm 2 pcs \$220.00 \$458.00 \$459.				·					
F300-5-11 stainless steel figs shot put competition Φ100mm 2 pcs \$240.00 \$850.00 \$300-513 stainless steel figs shot put competition 0+100mm 2 pcs \$244.00 \$485.00 \$485.00 \$600-514 stainless steel figs shot put competition 0+10mm 2 pcs \$220.00 \$440.00 \$485.00 \$600-515 \$400-51			<u> </u>	•					
F300-5-12 stainless steel kig shot put competition Φ10cmm F300-5-13 stainless steel kig shot put competition Φ10cmm F300-5-15 stainless steel kig shot put competition Φ10cmm 2 pcs \$229.00 \$449.00 5490.00 F300-5-15 stainless steel kig shot put competition Φ20cmm 2 pcs \$225.00 \$449.00 5490.00 F300-4-12 IAAF stainless steel kig shot put competition Φ90cmm 2 pcs \$250.00 \$449.00 F300-4-13 IAAF stainless steel kig shot put competition Φ90cmm 2 pcs \$250.00 \$449.00 F300-4-13 IAAF stainless steel kig shot put competition Φ10cmm 2 pcs \$250.00 \$449.00 F300-4-15 IAAF stainless steel kig shot put competition Φ10cmm 2 pcs \$250.00 \$449.00 F300-4-15 IAAF stainless steel kig shot put competition Φ10cmm 2 pcs \$250.00 \$449.00 F300-6-19 fig shot put F300-6-9 fig shot p		IAAF		•					
F300-5-13 stainless steel skg shot put			<u> </u>	•	,			· ·	
F300-5-14			<u> </u>						
F300-6-15				•	,				
F300-4-11 IAAF stainless steel 4kg shot put Competition Φ95mm F300-4-12 IAAF stainless steel 4kg shot put Competition Φ95mm P300-4-13 IAAF Stainless steel 4kg shot put Competition Φ95mm P300-4-15 IAAF Stainless steel 4kg shot put Competition Φ103mm P300-4-15 IAAF Stainless steel 4kg shot put Competition Φ105mm P300-4-15 IAAF Stainless steel 4kg shot put Competition Φ105mm P300-4-15 IAAF Stainless steel 4kg shot put P300-0-9 Skg shot put P300-0-9				•	,		pcs		
F300-4-12 IAAF stainless steel 4kg shot put competition Φ99mm F300-4-13 IAAF stainless steel 4kg shot put competition Φ109mm 2 pcs \$242.00 \$488.00 F300-4-15 IAAF stainless steel 4kg shot put competition Φ109mm 2 pcs \$225.00 \$450.00 F300-4-15 IAAF stainless steel 4kg shot put competition Φ109mm 2 pcs \$225.00 \$450.00 F300-10-9 9kg shot put F300-8-9 9kg shot put 9kg s	-		<u> </u>	•	,		•		
F300-4-13 IAAF stainless steel 4 kg shot put Competition Φ103mm 2 pcs \$234.00 \$468.00 \$200.00 \$450.00 \$							pcs	· ·	
F300-4-14 IAAF stainless steel 4kg shot put Competition Φ106mm Competition Φ106mm Competition Φ106mm Competition Φ106mm Competition Φ109mm	-			•			•		
F300-4-15			stainless steel 4kg shot put	competition Φ103mm	-		pcs		
F300-10-9 10kg shot put	F300-4-14		stainless steel 4kg shot put	·			pcs	\$225.00	\$450.00
F300-9-9 9kg shot put F300-8-9 8kg shot put F300-786-9 7.728kg shot put F300-85-9 6.5kg shot put F300-35-9 7.5kg shot put F300-25-9 7.5kg shot put 7.5kg shot		IAAF	stainless steel 4kg shot put	competition Φ109mm			pcs		
F300-8-9 Skg shot put F300-726-9 7.26kg shot put F300-65-9 6.5kg shot put F300-65-9 5.5kg shot put F300-65-9 5.5kg shot put F300-35-9 5.5kg shot put F300-49 4.5kg shot put F300-49 4.5kg shot put F300-35-9 3.5kg shot put F300-35-9 3.5kg shot put F300-3-9 2.5kg shot put F300-15-9 2.5kg shot put F300-15-9 1.5kg shot put 1.5kg							<u> </u>		
F300-F26-9 7.28kg shot put F300-69-9 6.5kg shot put F300-69-9 6.5kg shot put F300-65-9 5.5kg shot put F300-65-9 6.5kg shot put F300-65-9 6.5kg shot put F300-65-9 6.5kg shot put F300-65-9 6.5kg shot put F300-49 4.5kg shot put F300-35-9 3.5kg shot put F300-35-9 3.5kg shot put F300-35-9 3.5kg shot put F300-35-9 2.5kg shot put F300-25-9 2.5kg shot put F300-25-9 2.5kg shot put F300-25-9 1.5kg shot put F300-15-9 1.5kg shot put F300-16-1 1.AAF cast steel 6 kg hammer F400-726-10 7.28kg hammer throw F400-726-10 6.8kg hammer throw F400-726-11 1.AAF cast steel 7.28 kg hammer F400-726-11 1.AAF cast steel 7.28 kg hammer F400-726-11 1.AAF cast steel 7.28 kg hammer F400-726-12 1.AAF cast steel 7.28 kg hammer F400-726-11 1.AAF cast steel 7.28 kg hammer F400-726-12 1.AAF cast steel 7.28 kg hammer F400-726-13 1.AAF cast steel 7.28 kg hammer F400-726-14 1.AAF cast steel 7.28 kg hammer F400-726-15 1.AAF cast steel 7.28 kg hammer F400-726-16 1.AAF cast steel 7.28 kg hammer F400-726-17 1.AAF cast steel 7.28 kg hammer F400-726-18 1.AAF cast steel 7.28 kg hammer Competition Φ110mm F400-726-10 1.AAF cast steel 7.28 kg hammer Competition Φ110mm F400-726-11 1.AAF cast steel 7.28 kg hammer Competition Φ10mm F400-726-12 1.AAF cast steel 7.28 kg hammer Competition Φ10mm F400-726-13 1.AAF cast steel 7.28 kg hammer Competition Φ10mm F400-6-14 1.AAF cast steel 6 kg hammer Competition Φ10mm F400-6-15 1.AAF cast steel 6 kg hammer Competition Φ100mm F400-6-16 1.AAF cast steel 6 kg hammer Competition Φ100mm F400-6-16 1.AAF cast steel 6 kg hammer Competition Φ100mm Competition Φ100mm Competition Φ100mm Competition Φ100mm Compet							<u> </u>		
F300-65-9 6.5kg shot put F300-69 6kg shot put F300-59 5.5kg shot put F300-69 4.5kg shot put F300-46-9 4.5kg shot put F300-49 4.5kg shot put F300-39 3.5kg shot put F300-39 3.5kg shot put F300-29 2.5kg shot put F300-29 1.5kg shot put F300-2-10 1.5kg shot put F300-2-10 1.5kg shot put F400-726-21 IAAF cast steel 6 kg hammer F400-726-10 6kg hammer throw F400-726-11 IAAF cast steel 7.28 kg hammer F400-726-13 IAAF cast steel 7.28 kg hammer F400-726-14 IAAF cast steel 7.28 kg hammer F400-726-15 IAAF cast steel 7.28 kg hammer F400-726-16 IAAF cast steel 7.28 kg hammer F400-726-11 IAAF cast steel 7.28 kg hammer F400-726-12 IAAF cast steel 7.28 kg hammer F400-726-13 IAAF cast steel 7.28 kg hammer F400-726-14 IAAF cast steel 7.28 kg hammer F400-726-15 IAAF cast steel 8 kg hammer F400-726-16 IAAF cast steel 7.28 kg hammer F400-6-12 IAAF cast steel 7.28 kg hammer F400-6-14 IAAF cast steel 8 kg hammer F400-6-15 IAAF cast steel 8 kg hammer F400-6-16 IAAF cast steel 8 kg hammer F400-6-17 IAAF cast steel 8 kg hammer F400-6-18 IAAF cast steel 8 kg hammer F400-6-19 cast steel 8 kg hammer F400-6-10 cast steel 7.28 kg hammer F400-726-11 cast							<u> </u>		
F300-6-9					G				
F300-55-9									-
F300-5-9									
F300-45-9	-				7		<u> </u>		
F300-35-9				Training iron	,		<u> </u>		
F300-3-9 3kg shot put F300-25-9 2.5kg shot put F300-15-9 1.5kg shot put F300-15-9 1.5kg shot put F300-15-9 1.kg shot put F400-726-21 IAAF cast steel 7.26 kg hammer Competition Φ110mm F400-726-11 IAAF cast steel 7.26 kg hammer Competition Φ120mm F400-726-15 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-6-10 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-6-10 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-6-10 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-6-10 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-6-11 IAAF cast steel 8 kg hammer competition Φ120mm Competition Φ120mm F400-6-11 IAAF cast steel 6 kg hammer competition Φ120mm Co	F300-4-9		4kg shot put		·	4	pcs	\$36.00	\$144.00
F300-25-9 2.5kg shot put F300-25-9 2kg shot put F300-15-9 1.5kg shot put 4 pcs \$33.50 \$134.00 4 pcs \$135.00 \$540.00 4 pcs \$127.00 \$508.00 F400-5-21 Cast steel 6 kg hammer Competition cast steel 4 pcs \$119.00 \$476.00 4 pcs \$119.00 \$476.00 4 pcs \$119.00 \$476.00 4 pcs \$119.00 \$436.00 F400-3-21 Cast steel 3 kg hammer throw F400-726-10 7.26kg hammer throw F400-5-10 6 kg hammer throw F400-3-10 3kg hammer throw F400-3-10 3kg hammer throw F400-726-11 IAAF cast steel 7.26 kg hammer competition Φ113mm competition Φ113mm competition Φ113mm competition Φ120mm F400-726-13 IAAF cast steel 7.26 kg hammer competition Φ120mm competition Φ125mm competition Φ125mm competition Φ125mm competition Φ125mm competition Φ120mm competition Φ1	F300-35-9		3.5kg shot put			4	pcs	\$35.00	\$140.00
F300-2-9	F300-3-9		3kg shot put			4	pcs	\$33.50	\$134.00
F300-15-9	F300-25-9		2.5kg shot put				pcs		
F300-1-9					,		pcs		
F400-726-21 IAAF cast steel 7 26 kg hammer F400-6-21 IAAF cast steel 6 kg hammer F400-5-21 cast steel 5 kg hammer F400-3-21 IAAF cast steel 4 kg hammer Competition cast steel F400-3-21 cast steel 3 kg hammer F400-3-21 cast steel 3 kg hammer F400-726-10 7.26kg hammer throw F400-6-10 6kg hammer throw F400-5-10 5kg hammer throw F400-3-10 3kg hammer throw F400-3-10 3kg hammer throw F400-3-10 3kg hammer throw F400-3-10 1AAF cast steel 7.26 kg hammer competition Φ110mm competition Φ120mm F400-726-15 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-6-13 IAAF cast steel 6 kg hammer competition Φ110mm competition Φ110mm competition Φ110mm competition Φ110mm competition Φ110mm competition Φ120mm competition Φ110mm competition Φ120mm competition			-		,				
F400-6-21 IAAF cast steel 6 kg hammer		10.05					_		-
F400-5-21 IAAF Cast steel 6 kg hammer			-		[IAAF]			· ·	
F400-4-21 IAAF Cast steel 4 kg hammer		IAAF	_					· ·	
F400-3-21 Cast steel 3 kg hammer			_	Competition cast steel					
F400-726-10 7.26kg hammer throw F400-6-10 6kg hammer throw F400-5-10 5kg hammer throw F400-5-10 5kg hammer throw F400-3-10 4kg hammer throw F400-3-10 3kg hammer throw F400-726-11 IAAF cast steel 7.26 kg hammer competition Φ110mm F400-726-12 IAAF cast steel 7.26 kg hammer competition Φ110mm F400-726-13 IAAF cast steel 7.26 kg hammer competition Φ116mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ129mm F400-6-11 IAAF cast steel 6 kg hammer competition Φ110mm F400-6-12 IAAF cast steel 6 kg hammer competition Φ110mm F400-6-13 IAAF cast steel 6 kg hammer competition Φ110mm F400-6-14 IAAF cast steel 6 kg hammer competition Φ110mm competition Φ120mm F400-6-15 IAAF cast steel 6 kg hammer competition Φ110mm competition Φ120mm c		IAAF	_				<u> </u>		
F400-6-10			_						
F400-5-10			-		TAAF				
F400-4-10					Quarte.				
F400-3-10 3kg hammer throw F400-726-11 IAAF cast steel 7.26 kg hammer competition Φ110mm 2 pcs \$305.00 \$610.00	-			Competition stainless steel					
F400-726-11 IAAF cast steel 7.26 kg hammer competition Φ110mm 2 pcs \$305.00 \$610.00 F400-726-12 IAAF cast steel 7.26 kg hammer competition Φ113mm 2 pcs \$234.00 \$468.00 F400-726-13 IAAF cast steel 7.26 kg hammer competition Φ110mm 2 pcs \$215.00 \$430.00 F400-726-14 IAAF cast steel 7.26 kg hammer competition Φ120mm 2 pcs \$212.00 \$424.00 F400-726-15 IAAF cast steel 7.26 kg hammer competition Φ129mm 2 pcs \$199.00 \$398.00 F400-6-11 IAAF cast steel 6 kg hammer competition Φ105mm 2 pcs \$180.00 \$360.00 F400-6-12 IAAF cast steel 6 kg hammer competition Φ110mm 2 pcs \$180.00 \$390.00 F400-6-13 IAAF cast steel 6 kg hammer competition Φ120mm 2 pcs \$180.00 \$360.00 F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm							_		
F400-726-12 IAAF cast steel 7.26 kg hammer competition Φ113mm 2 pcs \$234.00 \$468.00 F400-726-13 IAAF cast steel 7.26 kg hammer competition Φ116mm 2 pcs \$215.00 \$430.00 F400-726-14 IAAF cast steel 7.26 kg hammer competition Φ120mm 2 pcs \$212.00 \$424.00 F400-726-15 IAAF cast steel 7.26 kg hammer competition Φ125mm 2 pcs \$199.00 \$398.00 F400-6-11 IAAF cast steel 6 kg hammer competition Φ105mm 2 pcs \$207.00 \$414.00 F400-6-12 IAAF cast steel 6 kg hammer competition Φ110mm 2 pcs \$195.00 \$390.00 F400-6-13 IAAF cast steel 6 kg hammer competition Φ110mm 2 pcs \$172.00 \$344.00 F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm 2 pcs \$172.00 \$344.00 F400-5-11 cast steel 6 kg hammer competition Φ125mm 2 pcs							<u> </u>		
F400-726-13 IAAF cast steel 7.26 kg hammer competition Φ116mm			_		,		pcs		
F400-726-14 IAAF cast steel 7.26 kg hammer competition Φ120mm F400-726-15 IAAF cast steel 7.26 kg hammer competition Φ125mm F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ129mm F400-6-11 IAAF cast steel 6 kg hammer competition Φ105mm F400-6-12 IAAF cast steel 6 kg hammer competition Φ110mm F400-6-13 IAAF cast steel 6 kg hammer competition Φ116mm F400-6-14 IAAF cast steel 6 kg hammer competition Φ120mm F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm F400-5-11 cast steel 5 kg hammer competition Φ125mm Cast steel 5 kg hammer competition Φ100mm P400-5-11 cast steel 5 kg hammer competition Φ100mm			_	'			pcs		
F400-726-15 IAAF cast steel 7.26 kg hammer competition Φ125mm 2 pcs \$199.00 \$398.00 F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ129mm 2 pcs \$180.00 \$360.00 F400-6-11 IAAF cast steel 6 kg hammer competition Φ105mm 2 pcs \$207.00 \$414.00 F400-6-12 IAAF cast steel 6 kg hammer competition Φ110mm 2 pcs \$195.00 \$390.00 F400-6-13 IAAF cast steel 6 kg hammer competition Φ116mm 2 pcs \$180.00 \$360.00 F400-6-14 IAAF cast steel 6 kg hammer competition Φ120mm 2 pcs \$172.00 \$344.00 F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm 2 pcs \$162.00 \$324.00 F400-5-11 cast steel 5 kg hammer competition Φ100mm 2 pcs \$177.00 \$354.00			-		[IAAF]		pcs		
F400-726-16 IAAF cast steel 7.26 kg hammer competition Φ129mm 2 pcs \$180.00 \$360.00 F400-6-11 IAAF cast steel 6 kg hammer competition Φ105mm 2 pcs \$207.00 \$414.00 F400-6-12 IAAF cast steel 6 kg hammer competition Φ110mm 2 pcs \$195.00 \$390.00 F400-6-13 IAAF cast steel 6 kg hammer competition Φ116mm 2 pcs \$180.00 \$360.00 F400-6-14 IAAF cast steel 6 kg hammer competition Φ120mm 2 pcs \$172.00 \$344.00 F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm 2 pcs \$162.00 \$324.00 F400-5-11 cast steel 5 kg hammer competition Φ100mm 2 pcs \$177.00 \$354.00	-		cast steel 7.26 kg hammer	competition Φ120mm	40		pcs		
F400-6-11 IAAF cast steel 6 kg hammer competition Φ105mm F400-6-12 IAAF cast steel 6 kg hammer competition Φ110mm F400-6-13 IAAF cast steel 6 kg hammer competition Φ116mm F400-6-14 IAAF cast steel 6 kg hammer competition Φ120mm F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm F400-5-11 cast steel 5 kg hammer competition Φ100mm			cast steel 7.26 kg hammer	competition Φ125mm			pcs		
F400-6-12 IAAF cast steel 6 kg hammer competition Φ110mm F400-6-13 IAAF cast steel 6 kg hammer competition Φ116mm F400-6-14 IAAF cast steel 6 kg hammer competition Φ120mm F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm F400-5-11 cast steel 5 kg hammer competition Φ100mm	F400-726-16	IAAF	<u> </u>	competition Φ129mm		2	pcs		
F400-6-13 IAAF cast steel 6 kg hammer competition Φ116mm F400-6-14 IAAF cast steel 6 kg hammer competition Φ120mm F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm F400-5-11 cast steel 5 kg hammer competition Φ100mm	F400-6-11	IAAF	cast steel 6 kg hammer	competition Φ105mm	[AAF]		pcs		\$414.00
F400-6-14 IAAF cast steel 6 kg hammer competition Φ120mm 2 pcs \$172.00 \$344.00 F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm 2 pcs \$162.00 \$324.00 F400-5-11 cast steel 5 kg hammer competition Φ100mm 2 pcs \$177.00 \$354.00	F400-6-12	IAAF	cast steel 6 kg hammer	competition Φ110mm			pcs	\$195.00	\$390.00
F400-6-15 IAAF cast steel 6 kg hammer competition Φ125mm 2 pcs \$162.00 \$324.00 F400-5-11 cast steel 5 kg hammer competition Φ100mm 2 pcs \$177.00 \$354.00	F400-6-13	IAAF	cast steel 6 kg hammer	competition Φ116mm		2	pcs	\$180.00	\$360.00
F400-5-11 cast steel 5 kg hammer competition Φ100mm 2 pcs \$177.00 \$354.00	F400-6-14	IAAF	cast steel 6 kg hammer	competition Φ120mm		2	pcs	\$172.00	\$344.00
	F400-6-15	IAAF	cast steel 6 kg hammer	competition Φ125mm		2	pcs	\$162.00	\$324.00
F400-5-12 cast steel 5 kg hammer competition Φ106mm 2 pcs \$167.00 \$334.00	F400-5-11		cast steel 5 kg hammer	competition Φ100mm		2	pcs	\$177.00	\$354.00
	F400-5-12		cast steel 5 kg hammer	competition Φ106mm		2	pcs	\$167.00	\$334.00

Type	Certify	Product name	Specification	Picture	M	OQ	Unite price	Total price
F400-5-13		cast steel 5 kg hammer	competition Φ110mm		2	pcs	\$159.00	\$318.00
F400-5-14		cast steel 5 kg hammer	competition Φ116mm	GAAE	2	pcs	\$150.00	\$300.00
F400-5-15		cast steel 5 kg hammer	competition Φ120mm		2	pcs	\$144.00	\$288.00
F400-4-11	IAAF	cast steel 4 kg hammer	competition Φ95mm		2	pcs	\$159.00	\$318.00
F400-4-12	IAAF	cast steel 4 kg hammer	competition Φ99mm		2	pcs	\$144.00	\$288.00
F400-4-13	IAAF	cast steel 4 kg hammer	competition Φ103mm		2	pcs	\$137.00	\$274.00
F400-4-14	IAAF	cast steel 4 kg hammer	competition Φ106mm		2	pcs	\$132.00	\$264.00
F400-4-15	IAAF	cast steel 4 kg hammer	competition Φ109mm		2	pcs	\$127.00	\$254.00
F400-726-11	IAAF	stainless 7.26kg hammer	competition Φ110mm		2	pcs	\$317.00	\$634.00
F400-726-12	IAAF	stainless 7.26kg hammer	competition Φ113mm	IAAF	2	pcs	\$307.00	\$614.00
F400-726-13	IAAF	stainless 7.26kg hammer	competition Φ116mm	Gridwin	2	pcs	\$300.00	\$600.00
F400-726-14	IAAF	stainless 7.26kg hammer	competition Φ120mm	1	2	pcs	\$290.00	\$580.00
F400-726-15	IAAF	stainless 7.26kg hammer	competition Φ125mm		2	pcs	\$280.00	\$560.00
F400-726-16	IAAF	stainless 7.26kg hammer	competition Φ129mm		2	pcs	\$267.00	\$534.00
F400-6-11	IAAF	stainless steel 6kg hammer	competition Φ105mm	1	2	pcs	\$299.00	\$598.00
F400-6-12	IAAF	stainless steel 6kg hammer	competition Φ110mm	[AAF]	2	pcs	\$284.00	\$568.00
F400-6-13	IAAF	stainless steel 6kg hammer	competition Φ116mm		2	pcs	\$267.00	\$534.00
F400-6-14	IAAF	stainless steel 6kg hammer	competition Φ120mm		2	pcs	\$257.00	\$514.00
F400-6-15	IAAF	stainless steel 6kg hammer	competition Φ125mm	•	2	pcs	\$244.00	\$488.00
F400-5-11	17-0-11	stainless steel 5kg hammer	competition Φ100mm		2	pcs	\$284.00	\$568.00
F400-5-11		-	competition Φ106mm		2		\$262.00	\$508.00
		stainless steel 5kg hammer	•		2	pcs		
F400-5-13		stainless steel 5kg hammer	competition Φ110mm			pcs	\$247.00	\$494.00
F400-5-14		stainless steel 5kg hammer	competition Φ116mm		2	pcs	\$240.00	\$480.00
F400-5-15		stainless steel 5kg hammer	competition Φ120mm		2	pcs	\$229.00	\$458.00
F400-4-11	IAAF	stainless steel 4kg hammer	competition Φ95mm		2	pcs	\$270.00	\$540.00
F400-4-12	IAAF	stainless steel 4kg hammer	competition Ф99mm		2	pcs	\$262.00	\$524.00
F400-4-13	IAAF	stainless steel 4kg hammer	competition Φ103mm		2	pcs	\$249.00	\$498.00
F400-4-14	IAAF	stainless steel 4kg hammer	competition Φ106mm		2	pcs	\$240.00	\$480.00
F400-4-15	IAAF	stainless steel 4kg hammer	competition Φ109mm		2	pcs	\$234.00	\$468.00
F400-20-2		hammer wire	steel		4	pcs	\$8.50	\$34.00
F400-20-3		hammer handle	steel	F400-20-3	4	pcs	\$15.50	\$62.00
F400-20-5		hammer glove	sheepskin		4	pcs	\$37.00	\$148.00
F500	IAAF	High jump stand	Competition steel 1.4-2.5m adjustable		1	set	\$529.00	\$529.00
F500-2		High jump stand	Competition steel 0.5-2.5m adjustable		1	set	\$395.00	\$395.00
F500-3		High jump stand	Training steel 0.5-1.8m adjustable		1	set	\$169.00	\$169.00
F520	IAAF	high jump landing area 4x6x0.7m			1	set	\$8,657.00	\$2.00
F520-9	IAAF	high jump landing area 4x6x0.7m	high density sponge waterproof material	assessed from the state of the	1	set	\$6,775.00	\$3.00
F520-5		high jump landing area 3x5x0.7m			1	set	\$5,270.00	\$4.00

Туре	Certify	Product name	Specification	Picture	M	Q	Unite price	Total price
F520-11		Platform for high jump landing area 4x6x0.7m	steel 3.8x5.8x0.1m		1	set	\$999.00	\$999.00
F520-12		Platform for high jump landing area 4x6x0.7m	stainless steel 3.8x5.8x0.1m		1	set	\$2,259.00	\$2,259.00
F520-11-1		Platform for high jump landing area 3x5x0.7m	steel 2.8x4.8x0.1m		1	set	\$792.00	\$792.00
F520-12-1		Platform for high jump landing area 3x5x0.7m	stainless steel 2.8x4.8x0.1m		1	set	\$1,845.00	\$1,845.00
F520-21		High jump mat shelter	steel for competition mat 6.4x4.4m		1	set	\$4,425.00	\$4,425.00
F520-22		High jump mat shelter	steel for training mat 5.4x3.4m		1	set	\$4,235.00	\$4,235.00
F540	IAAF	High jump crossbar fiberglass	madeof high quality length 4000mm, weight<2.25kg	w w	2	pcs	\$65.00	\$130.00
F560		high jump height guage	Made of high quality aluminum for measurement 1.4-2.5m	BLASE BY Project Course State By Project Course Extended	1	рс	\$114.00	\$114.00
F520-9A		The tread mat	4x6x0.1m		1	set	\$1,540.00	\$1,540.00
F520-5A		The tread mat	3x5x0.1m		1	set	\$1,105.00	\$1,105.00
F520-6A		High jump training bed	liftable one 30cm mat		1	set	\$7,750.00	\$7,750.00
F520-6B		High jump training bed	liftable two 30cm mat protection mat		1	set	\$10,250.00	\$10,250.00
F510	IAAF	Pole vault stand	Made of special steel, the statble base frame weded to the aprights and runs in the rails with polyamide wheels,adjustable for 2-6m		1	set	\$5,199.00	\$5,199.00
F510-9		Pole vault stand training	Made of high quality steel measurement 3-5.5m training		1	set	\$1,847.00	\$1,847.00
F510-11		Electric Pole vault stand	regulation of motor		1	set	\$32,500.00	\$32,500.00
F510-10		Offset Extension	steel	*1111111111	1	set	\$150.00	\$150.00
F530	IAAF	Pole vault Landing area 8000x6000x800mm	high density sponge High waterproof material	[AAF]	1	set	\$12,865.00	\$12,865.00
F530-9	IAAF	Pole vault Landing area 8000x6000x800mm	high density sponge normal waterproof material		1	set	\$11,172.00	\$11,172.00
F530-5		Pole vault Landing area 5000x7000x700mm	normal density sponge waterproof material		1	set	\$9,617.00	\$9,617.00
F530-11		Platform for pole vault landing area 6x8x6x0.8m	Steel for 5.8x7.8x0.1m		1	set	\$1,412.00	\$1,412.00
F530-12		Platform for pole vault landing area 6x8x6x0.8m	stainless steel for 5.8x7.8x0.1m		1	set	\$3,012.00	\$3,012.00
F530-11-1		Platform for pole vault landing area 5x7x0.7m	Steel for 6.8x4.8x0.1m		1	set	\$1,250.00	\$1,250.00
F530-12-1		Platform for pole vault landing area 5x7x0.7m	stainless steel for 4.8x6.8x0.1m		1	set	\$2,259.00	\$2,259.00

Туре	Certify	Product name	Specification	Picture	M)Q	Unite price	Total price
F530-21		Pole vault mat shelter	Steel for 6.6x8.4m		1	set	\$6,375.00	\$6,375.00
							+=,=====	+ -, - · · · · ·
F530-22		Pole vault mat shelter	Steel for 5.4x7.4m		1	set	\$5,537.00	\$5,537.00
F550	IAAF	Pole vault crossbar fiberglass	madeof high quality length 4500mm,	w .	2	pcs	\$69.00	\$138.00
F550-3	IAAF	Pole vault crossbar carbon fiber	weight<2.25kg		2	pcs	\$160.00	\$320.00
F570-1		Height Guage for pole vault	Made of high quality aluminum alloy measurement 2-6m		1	рс	\$367.00	\$367.00
F580-1	IAAF	Dala a liba	Stainless ateel	LAAF	1	set	\$1,000.00	\$1,000.00
F580-2	IAAF	Pole vault box	Steel		1	set	\$417.00	\$417.00
F590-1		Telescoping crossbar bracket	Aluminum alloy	横杆籽模 Telescoping Crossbar Bracket 1590-1 铝合金 Aluminium	1	рс	\$72.00	\$72.00
S9-15		Pole vaulting display board	steel & organics	原件就是形式完成 BRRMS 89 60000 100 0000 07 00000 100 0000 07 0	1	рс	\$180.00	\$180.00
F530-31		Pole vault protector mat	high density sponge normal waterproof material		1	set	\$635.00	\$635.00
F600 (F600-11)	IAAF	Discus and hammer	made of steel		1	set	\$15,995.00	\$15,995.00
F600-3	IAAF	cage Moveable	made of aluminum		1	set	\$21,640.00	\$21,640.00
F600-2	IAAF	Discus and hammer	made of steel		1	set	\$14,115.00	\$14,115.00
F600-2-2	IAAF	Grounding	made of aluminum		1	set	\$19,760.00	\$19,760.00
F600-1	IAAF	Discus cage	made of steel		1	set	\$7,150.00	\$7,150.00
F600-31		Discus and hammer cage net	competition nylon white		1	set	\$3,688.00	\$3,688.00
F600-32		discus cage net	competition nylon white		1	set	\$2,450.00	\$2,450.00
F600-33		Discus and hammer cage net	competition nylon single		1	set	\$2,545.00	\$2,545.00
F600-34		discus cage net	competition nylon single		1	set	\$1,845.00	\$1,845.00
F1-2	IAAF	take-off board	122x20x10cm wooden		1	рс	\$69.00	\$69.00
F1-1-1		Foundation tray	122x20cm steel material		1	рс	\$125.00	\$125.00
F1-1-2		Foundation tray	122x20cm stainless steel		1	рс	\$510.00	\$510.00
F1-1	IAAF	take-off board	122x34x10cm wooden		1	рс	\$135.00	\$135.00
F1-2-1		Foundation tray	122x34cm steel material		1	рс	\$182.00	\$182.00
F1-2-2		Foundation tray	122x34cm stainless steel		1	рс	\$547.00	\$547.00
F1-2-11		Blanking board	steel		1	рс	\$79.00	\$79.00
F0-1		Blanking board	stainless steel		1	рс	\$185.00	\$185.00
F1-21		Plasticine insert	122x10x2cm wooden		1	рс	\$15.00	\$15.00
F1-31		plasticine			1	рс	\$12.00	\$12.00
F1-3		take-off board	122x30x10cm wooden		1	рс	\$97.00	\$97.00

Туре	Certify	Product name	Specification	Picture	M	QQ	Unite price	Total price
F1-12	IAAF	Stop board	Wooden with fixing galvanized ground pegs	<u>out</u>	1	рс	\$79.00	\$79.00
F2-1		Javelin throw bow			1	рс	\$755.00	\$755.00
F2-11	IAAF	01.1.1.1	steel	[MF]	1	рс	\$417.00	\$417.00
F2-13	IAAF	Shot put circle	Stainless steel		1	рс	\$735.00	\$735.00
F2-21	IAAF	D'acceptable	steel	(AAF	1	рс	\$434.00	\$434.00
F2-23	IAAF	Discus circle	stainless steel		1	рс	\$979.00	\$979.00
F2-31		Hammer circle	Steel	[MF]	1	рс	\$417.00	\$417.00
F2-33		Hammer circle	Stainless steel		1	рс	\$735.00	\$735.00
F2-41	IAAF	Hammer Conversion	Steel	[AAF]	1	рс	\$484.00	\$484.00
F2-43	IAAF	circle	stainless steel		1	рс	\$530.00	\$530.00
T200A	IAAF		5pc Two levels of height		1	set	\$2,095.00	\$2,095.00
T200B	IAAF	Barrier hurdle	Steel & wooden	I	1	set	\$4,610.00	\$4,610.00
T200	IAAF		4pc Two levels of height Steel & wooden		1	set	\$1,650.00	\$1,650.00
T200-11	IAAF	water jump barrier	steel and wooden		1	рс	\$500.00	\$500.00
S9-7		wind indicator	steel and mercery	wo =	1	рс	\$76.00	\$76.00
S9-8		anemograph	steel tripod	A	1	set	\$1,440.00	\$1,440.00
T100	IAAF	Hurdle	made of high aluminum alloy 5 height levels:762mm,838mm,914m m,991mm,1067mm	опоми и	10	pcs	\$185.00	\$1,850.00
T100-1	IAAF	hurdle	Steel and plastic, 5 height levels:762mm,838mm,914m m,991mm,1067mm		10	pcs	\$69.00	\$690.00
T100-9		hurdle	Steel and plastic, 5 height levels:762mm,838mm,914m m,991mm,1067mm	CACONY	10	pcs	\$49.00	\$490.00
T100-5		hurdle	Steel and waterproof clothing, 5 height levels:762mm,838mm,914m m,991mm,1067mm		10	pcs	\$62.00	\$620.00

Туре	Certify	Product name	Specification	Picture	M	Q	Unite price	Total price
T110-1		hurdle diaphragm	plastic	CROWN	10	pcs	\$10.00	\$100.00
T120		hurdle guage	made of aluminum		1	рс	\$40.00	\$40.00
Т300	IAAF		made of aluminum		2	set	\$167.00	\$334.00
T300-1	IAAF	ete d'eschile el	made of steel thickness	CAAP A THE STATE OF THE STATE O	2	set	\$160.00	\$320.00
T300-4	IAAF	starting block	Competition made of steel		2	set	\$124.00	\$248.00
T300-6			training steel		2	set	\$70.00	\$140.00
T300-7		starting blocks nail	steel		10	рс	\$7.00	\$70.00
T300-8		starting block footboard	Made of rubber		2	рс	\$8.00	\$16.00
T1-1	IAAF		competition aluminum		8	pcs	\$7.50	\$60.00
T1-2		relay baton	training aluminum	S. S. Touth M. B.	8	pcs	\$4.20	\$33.60
T2-1		judges hand flag	mercery		4	рс	\$13.50	\$54.00
T2-2		Curve flag	mercery and steel		1	set	\$47.00	\$47.00
T2-2-1		Tortuous			1	set	\$10.00	\$10.00
T2-3		Official's flag	mercery and steel	8	1	рс	\$60.00	\$60.00
T2-4		recorder flag	height 70cm		1	set	\$13.00	\$13.00
T2-4-1		corner flag	mercery		1	рс	\$13.00	\$13.00
T2-5		Mark Pin	steel		1	рс	\$11.00	\$11.00

Туре	Certify	Product name	Specification	Picture	M	QC	Unite price	Total price
T2-5-1		Mark Pin	rion		1	рс	\$7.00	\$7.00
T2-6		direction indicator	mercery and steel	200	4	pcs	\$45.00	\$180.00
T2-7		Marker flag	mercery and steel		1	рс	\$40.00	\$40.00
S2-1		Return channel for shots	made of high steel tube		1	set	\$585.00	\$585.00
S2-2								
S2-3		Pick up shot put	steel		1	рс	\$85.00	\$85.00
S3-1		long distance marker	fiberglass triangle shape	65 65	10	pcs	\$35.00	\$350.00
S3-2		short distance marker	fiberglass triangle shape	120	10	pcs	\$26.00	\$260.00
S3-21		Tortuous lane marker	plastic		10	pcs	\$29.00	\$290.00
S3-31		Take-off marker	polymethyl methacrylate	CROWN MM	1	set	\$30.00	\$30.00
S3-32		step marker	polymethyl methacrylate		1	рс	\$3.50	\$3.50
S3-33		Racetrack rivaled marker	wooden		1	рс	\$5.00	\$5.00
S3-35		road sign	bigger/ plastic		10	pcs	\$20.00	\$200.00
S3-36		road sign	middle / plastic		10	pcs	\$17.00	\$170.00
S3-37		road sign	small / plastic		10	pcs	\$14.00	\$140.00

Туре	Certify	Product name	Specification	Picture	M	OQ	Unite price	Total price
S3-41-1			3-8m steel		1	set	\$635.00	\$635.00
S3-41-2		Measuring boards for long and trile jump	11-16m steel		1	set	\$635.00	\$635.00
S3-41-3			13-18m steel		1	set	\$635.00	\$635.00
S1-1		javelin cart	steel	5	1	рс	\$330.00	\$330.00
S1-12		discus cart	steel		1	рс	\$330.00	\$330.00
S1-22		shot put cart	steel		1	рс	\$330.00	\$330.00
S1-32		hammer throw cart	steel	(000000	1	рс	\$330.00	\$330.00
S1-41		pole vault crossbar cart	steel		1	рс	\$330.00	\$330.00
S1-51		pole vault pole cart	steel		1	рс	\$330.00	\$330.00
S4-1		hurdle cart	steel		1	рс	\$375.00	\$375.00
S4-11		Sector tape cart	steel		1	рс	\$509.00	\$509.00
S4-11-1		Sector tape	100m nylon wide for 5cm		1	set	\$135.00	\$135.00
S4-11-2		U-nail	steel	THE STATE OF THE S	1	рс	\$3.50	\$3.50
S4-22		Starting block cart	Steel		1	рс	\$330.00	\$330.00
S4-31		Absorb water wheel barrow	plastic and steel		1	рс	\$660.00	\$660.00

Туре	Certify	Product name	Specification	Picture	M)Q	Unite price	Total price
S4-41		- cart for athletics court	steel for 1.2x1.8m	(April)	1	рс	\$404.00	\$404.00
S4-42			steel for 1.2x0.8m		1	рс	\$302.00	\$302.00
S4-52		lining-marking cart	steel		1	рс	\$295.00	\$295.00
S4-61		electrocar	steel and mat chear	CHINA	1	рс	\$15,200.00	\$15,200.00
S4-62		combination equipment cart	steel		1	рс	\$485.00	\$485.00
S5-1			100m		1	рс	\$70.00	\$70.00
S5-2		Steel measuring tap	50m	-	1	рс	\$45.00	\$45.00
S5-3			30m		1	рс	\$37.00	\$37.00
S5-4			15m		1	рс	\$25.00	\$25.00
S6-1			100m		1	рс	\$64.00	\$64.00
S6-2		Fiberglass measuring tape	50m		1	рс	\$27.00	\$27.00
S6-3			30m		1	рс	\$15.00	\$15.00
S6-4			20m		1	рс	\$12.00	\$12.00
S7-1		extension-type judges timekeeper stand	24people steel material		1	рс	\$5,855.00	\$5,855.00
S7-1-1			27people steel material		1	рс	\$6,025.00	\$6,025.00
S7-3		judges timekeeper stand	24people steel material		1	рс	\$4,920.00	\$4,920.00
S7-3-1			27people steel material		1	рс	\$5,020.00	\$5,020.00
S7-11		extension-type	16people steel material		1	рс	\$4,705.00	\$4,705.00
S7-11-1		judges timekeeper stand	18people steel material		1	рс	\$4,805.00	\$4,805.00
S7-13		judges timekeeper stand	16people steel material		1	рс	\$3,750.00	\$3,750.00
S7-13-2		Judges timekeeper stand	18people steel material		1	рс	\$3,875.00	\$3,875.00
S7-9		judges timekeeper stand awning	mercery and steel frame	OR 17	1	set	\$1,100.00	\$1,100.00
S7-21			1-8 winner		1	set	\$1,040.00	\$1,040.00
S7-21-1		Winner's stand	1-3winner	2 3	1	set	\$585.00	\$585.00
S7-21-2			Team winner	2 1 3	1	set	\$900.00	\$900.00
S8-1		Starter's stand	stainless steel		1	set	\$555.00	\$555.00
S8-2		Starting arm sleeve	mercery		1	set	\$13.50	\$13.50

Туре	Certify	Product name	Specification	Picture	M	QC	Unite price	Total price
S9-2		sand smoother	Aluminum alloy		1	рс	\$62.00	\$62.00
S9-3		Foul play for walking race	organics board	7 7 F	1	set	\$3.00	\$3.00
S9-4		Chalk box	fiberglass and steel stand		1	рс	\$115.00	\$115.00
S9-4-1		Chalk	288pcs	F	1	box	\$405.00	\$405.00
S9-5		line marker	1-8number	1/2345678	1	set	\$435.00	\$435.00
S9-5-1		line foul	organics board red and yellow		1	рс	\$5.00	\$5.00
S9-6				***	1	рс	\$47.00	\$47.00
S9-16	IAAF	track kerb	made of high aluminum alloy for 400m		1	set	\$6,560.00	\$6,560.00
S9-17					1	set	\$307.00	\$307.00
S9-10		Scoreboard for height and distance	steel and organics board		1	set	\$1,110.00	\$1,110.00
S9-10A		Score board	steel and organics board	The Allinois and the Al	1	set	\$375.00	\$375.00
S9-10-1		Score board manual	steel and organics board	11288	1	set	\$227.00	\$227.00
S9-10-2		score board push	steel and organics board		1	set	\$245.00	\$245.00
S9-10-3		total score board	0.9x1.8m		1	рс	\$217.00	\$217.00
S9-11-1		lap indicator manual	steel with copper bell	16	1	set	\$349.00	\$349.00
S9-11-2		lap indicator push	steel with copper bell		1	set	\$405.00	\$405.00
S9-13		final post	aluminum	1.	1	set	\$159.00	\$159.00
S9-14		final band	mercery		1	рс	\$57.00	\$57.00

Туре	Certify	Product name	Specification	Picture	M	QQ	Unite price	Total price
QT-1			4people steel material and resistance to strike		1	set	\$1,320.00	\$1,320.00
QT-1-1		athletics shelter	8people steel material and resistance to strike		1	set	\$2,635.00	\$2,635.00
QT-2			2people steel material and resistance to strike		1	set	\$1,130.00	\$1,130.00
QT-3		Field awning	mercery and steel frame	OROWIN EST	1	рс	\$535.00	\$535.00
QT-9		small chair	plastic and steel		1	рс	\$13.50	\$13.50
QT-10		judger chair	plastic and steel		1	рс	\$25.00	\$25.00
QT-11		judger desk	plastic and steel	4	1	рс	\$375.00	\$375.00
QT-12		athletic bench	leather and steel	N N	1	рс	\$98.50	\$98.50
QT-12-1			glass fiber reinforced plastics		1	рс	\$117.00	\$117.00
QT-13		Megaphone	plastic and electronic engineering	12	1	рс	\$20.00	\$20.00
QT-14		big sunshade	2.4m mercery and steel frame		1	рс	\$47.00	\$47.00
QT-16		athletic case	plastic 52L		1	рс	\$17.00	\$17.00
J3-9		Throwing equipment detector	aluminum, stainless and steel		1	set	\$1,335.00	\$1,335.00

Price term: EXW

Packing term: carton and woven bag

Payment:50% will pay by T/T before production arranged, the balance to be paid by T/T before shipment.

Delivery time: 45 days after confirmation of the order payment.

Bank information:Please remit the money by T/T to below account

Intermediary banker's name: JPMORGAN CHASE, NEW YORK BRANCH, NEW YORK

Swift code swift: CHASUS33 Bene banker's A/C no.:001043718

Beneficiary banker's name: INDUSTRIAL AND COMMERCIAL BANK OF CHINA,

BEIJING MUNICIPAL BRANCH, BEIJING, PRC

Swift code swift: ICBKCNBJBJM

Beneficary's name: BEIJING CROWN SPORTING GOODS CO.,LTD.

Account No.: 0200000709129000525

Address: No.27 Bei Chi Zi Street Beijing China 100006

Telephone:86-10-65252280 Fax: 86-10-65253370